BX—TIk2 (A 4RHK

SM2E7 /%
ELIIIRMAKE KESRBERBSE (EFILMH)
kB 9:00

KERBRERBREE (BRI (FE K))

o |KEBE E| oH |BHEE |[DEE| X% (15t # =&
S g BmE| A A 5o |® =
C C E mg/l {mg/l {mg/l [ mg/l | mg/l mg/|

1 [55] 23.2| 17.0 33.4| 7.47
2 & 25.01 15.5 7.0 7.59( 32.0] 34.0 107 4.5 0.36[ <0.02
3 = 24.2] 15.0 2.5 17.32
4 [55] 25.2| 15.8] 12.1] 7.43
5 = 24.5| 15.4 4.1 7.46
6 [55] 23.01 15.3 2.9] 7.43
1 [55] 24.8| 17.7 589 7.73 BT 7K
8 | 2 | 24.8 "
9 [55] 23.6/ 17.0 564| 7.56 "
10 [55] 24.5 "
11 [55] 27.0 "
12 = 27.3 "
13 = 23.2 "
14 5] 22.2| 14.8 3.9] 7.51

15 = 27.0] 14.0 8.0/ 7.59| 36.0] 39.0 149 5.1 0.97 0.04

16 = 22.7) 14.6 2.8 7.54

17 5] 21.2] 14.5 2.3] 7.46

18 5] 21.0] 15.0 3.4 7.51

19 = 24.0] 14.7 1.2 7.51

20 & 30.0] 14.7 1.2 17.56

21 = 26.8| 14.7 1.1 7.54

22 = 26.0] 15.0 2.0 7.45

23 = 25.5 14.8 1.1 7.52

24 = 27.5 14.7 1.0/ 7.60

25 5] 24.2| 17.0[ 20.8] 7.49

26 5] 26.0] 18.0 126| 7.53 BT 7K
27 = 26.4] 18.3 485 7.65 "
28 = 28.0] 16.8 2.1 7.46 "
29 = 25.01 14.4 3.8/ 7.53 "
30 5] 22.01 14.8 2.0 7.52

31 = 24.01 14.8 2.1 7.58

Ty 24.8| 15.6| 72.5| 7.52| 34.0]/ 36.5 128 4.8 0.67 0.02

xe 30.0] 18.3 589 7.73] 36.0] 39.0 149 5.1 0.97 0.04

=K 21.0] 14.0 1.0 7.32| 32.0/ 34.0 107 4.5 0.36[ <0.02




